
Durablue, Inc.
Item List

05/13/2021 at 14:45:05 Page: 1

Accessory List

Item ID Item Description           updated 05/2021 Qty Part # Desc

Axle Housings
hah-b Axle Housing Hon trx400ex '99-08/trx400x '09-14/atc250r '86/trx250r '86-89 2 20-1607 Hardware Bearing-HAH-B/HAX-bal

2 20-1618 Hardware Seal-HAH-B/HAX-ball

1 20-1611r Hardware Tube for HAH-B-ea

hax 2 20-1607 Hardware Bearing-HAH-B/HAX-bal

2 20-1618 Hardware Seal-HAH-B/HAX-ball

1 20-1611x Hardware Tube for HAX-ea

hah450 Axle Housing Hon trx450r '04-14 2 20-1607 Hardware Bearing-HAH-B/HAX-bal

2 20-1618 Hardware Seal-HAH-B/HAX-ball

1 20-1611r Hardware Tube for HAH-B-ea

ksf450ah Axle Housing Kaw kfx450r '08-14 2 20-1607 Hardware Bearing-HAH-B/HAX-bal

2 20-1709b Hardware Seal-WAH-b ball-ea

z400ah 2 20-1607 Hardware Bearing-HAH-B/HAX-bal

2 20-1661 Hardware Seal-z400ah-ball

1 z400bk Hardware Bolt Kit-Z400ah

qr450ah Axle Housing Suz lt-r450 '06-14 2 20-1607 Hardware Bearing HAH-B/HAH-bal

2 20-1661 Hardware Seal-Z400ah-Bal

bah Axle Housing Yam Ban350 '87-06 1 20-1712 Hardware Bolt Kit-BAH-ea

2 20-1711 Hardware Seal-BAH/RAH-ea

4 20-1710 Hardware Bearing-BAH/RAH

1 20-1611b Hardware Tube for BAH-ea

27ah Axle Housing Yam Raptor 350 '05-15 2 20-1711 Hardware Seal-BAH/RAH-ea

4 20-1710 Hardware Bearing-BAH/RAH

1 20-1715 Hardware Bolt Kit-27AH-ea

rah Axle Housing Yam Rap660 '01-05 2 20-1711 Hardware Seal-BAH/RAH-ea

4 20-1710 Hardware Bearing-BAH/RAH

rah700 Axle Housing Yam Raptor 700 '06-15/Raptor 700r-se '15-17 2 20-1607 Hardware Bearing-HAH-B/HAX-bal

2 20-1660 Hardware Seal-YAH-ea

Axle Housing Hon atc350x '85-86 ('85 must change sprocket bolts)/trx300ex 
'87-08/trx300x '09-14/trx250x '87-08

Axle Housing Suz Z400 '04-08/Suz lt-z400 '09-16/Kaw kfx400 '04-06/Arctic Cat DVX 
400 '04-08



Durablue, Inc.
Item List

05/13/2021 at 14:45:05 Page: 2

yah450 Axle Housing Yam yfz450 '06-09 &12-15/yfz450r-se '09-17/yfz450x '10-11 2 20-1607 Hardware Bearing-HAH-B/HAX-bal

2 20-1660 Hardware Seal-YAH-ea

wah Axle Housing Yam Warrior '90-04 2 20-1607 Hardware Bearing-HAH-B/HAX-bal

2 20-1709b Hardware Seal-WAH-b ball-ea

1 20-1629 Hardware Bolt kit-WAH-ea

Anti-Roll Sway Bars
20-1700 Anti-Roll/Sway Bar Kit fits most A-arm ATV's 1 20-1701 Hardware Anti-roll small parts

1 20-1703 Hardware Anti-roll bracket-pr

2 20-1702 Hardware Anti-roll bushings-ea

2 20-1705 Hardware Anti-roll torsion arm

1 20-1704 Hardware Anti-roll torsion bar

1 20-1707 Hardware Anti-roll tube hsg

2 20-1706 Hardware Anti-roll turn buckle

20-1700w Anti-Roll/Sway Bar Kit fits most extended A-arm ATV's 1 20-1701 Hardware Anti-roll small parts

1 20-1703 Hardware Anti-roll bracket-pr

2 20-1702 Hardware Anti-roll bushings-ea

2 20-1705 Hardware Anti-roll torsion arm

1 20-1704el Hardware Anti-roll torsion bar+3"

1 20-1707el Hardware Anti-roll tube hsg+3"

2 20-1706 Hardware Anti-roll turn buckle

20-1700a Anti-Roll/Sway Bar Kit Hon trx450r '06-14 1 20-1703 Hardware Anti-roll bracket-pr

1 20-1701 Hardware Anti-roll small parts

2 20-1702 Hardware Anti-roll bushings-ea

2 20-1705 Hardware Anti-roll torsion arm

1 20-1704 Hardware Anti-roll torsion bar

1 20-1707 Hardware Anti-roll tube hsg

2 20-1706l Hardware Anti-roll turn buck+1

2 20-1666 Hardware Spacer-20-1700a kit

20-1700hr Anti-Roll/Sway Bar Kit Hon trx700xx (rear) '09-12 1 20-1701h Hardware Anti-roll small parts kit-Hon 20-1700h

1 20-1703 Hardware Anti-roll bracket-pr

2 20-1702 Hardware Anti-roll bushings-ea

2 20-1705 Hardware Anti-roll torsion arm

1 20-1704el Hardware Anti-roll torsion bar+3"



Durablue, Inc.
Item List

05/13/2021 at 14:45:05 Page: 3

1 20-1707el Hardware Anti-roll tube hsg+3"

2 20-1706 Hardware Anti-roll turn buckle-7.5" long-ea

2 20-1666 Hardware Spacer-20-1700h kit-ea (2 per kit)

20-1700k Anti-Roll/Sway Bar Kit KTM 450XC/525XC '08-12-front kit 1 20-1703 Hardware Anti-roll bracket-pr

1 20-1701k Hardware Anti-roll small parts kit for 20-1700k

2 20-1702 Hardware Anti-roll bushings-ea

2 20-1705 Hardware Anti-roll torsion arm

1 20-1704el Hardware Anti-roll torsion bar+3"

1 20-1707el Hardware Anti-roll tube hsg+3"

2 20-1706l Hardware Anti-roll turn buck+1

2 20-1666 Hardware Spacer-20-1700a/k kit

20-1700s Anti-Roll/Sway Bar Kit Suz lt-r450 '06-14 1 20-1716 Hardware Anti-roll bracket 20-1700s/20-1700b-pr

1 20-1701 Hardware Anti-roll small parts

2 20-1702 Hardware Anti-roll bushings-ea

2 20-1705 Hardware Anti-roll torsion arm

1 20-1704el Hardware Anti-roll torsion bar+3"

1 20-1707el Hardware Anti-roll tube hsg+3"

2 20-1706l Hardware Anti-roll turn buck+1

20-1700b Anti-Roll/Sway Bar Kit Suz ltz400 '09-16 1 20-1716 Hardware Anti-roll bracket 20-1700s/20-1700b-pr

2 20-1702 Hardware Anti-roll bushings-ea

2 20-1705 Hardware Anti-roll torsion arm

1 20-1704 Hardware Anti-roll torsion bar

1 20-1707 Hardware Anti-roll tube hsg

2 20-1706 Hardware Anti-roll turn buckle

2 20-1666 Hardware Spacer-20-1700h kit-ea (2 per kit)

1 20-1701h Hardware Anti-roll small parts kit-Hon 20-1700h/b

20-1700y 1 20-1703 Hardware Anti-roll bracket-pr

1 20-1701 Hardware Anti-roll small parts

2 20-1702 Hardware Anti-roll bushings-ea

2 20-1705 Hardware Anti-roll torsion arm

1 20-1704el Hardware Anti-roll torsion bar+3"

1 20-1707el Hardware Anti-roll tube hsg+3"

2 20-1706 Hardware Anti-roll turn buckle

20-1700r Anti-Roll/Sway Bar Kit Yam Raptor 700 '06-15/Raptor 700r-se '15-17 1 20-1703 Hardware Anti-roll bracket-pr

Anti-Roll/Sway Bar Kit Yam Raptor 660 '01-05/yfz450 '04-09, 12-15/Yam yfz450r-se 
'09-17/yfz450x '10-11/Kaw fx450r '08-14



Durablue, Inc.
Item List

05/13/2021 at 14:45:05 Page: 4

1 20-1701 Hardware Anti-roll small parts

2 20-1702 Hardware Anti-roll bushings-ea

2 20-1705 Hardware Anti-roll torsion arm

1 20-1704el Hardware Anti-roll torsion bar+3"

1 20-1707el Hardware Anti-roll tube hsg+3"

2 20-1706l Hardware Anti-roll turn buck+1

Anti-Fade Brake Hubs
20-1600 Anti-fade Brake Hub/Nut Assembly Hon trx250r '86-89 1 20-1600b Hardware bolt 20-1600/01/40/43

20-1601 Anti-fade Brake Hub/Nut Assembly Hon trx250x/trx300ex '87-08/trx300x '09-10 1 20-1601bk Hardware Bolt kit-8x20mm-3 pc

1 20-1600b Hardware bolt 20-1600/01/40/43

20-1640 Anti-fade Brake Hub/Nut Assembly Hon trx400ex '99-08/trx400x '09-14 1 20-1600b Hardware bolt 20-1600/01/40/43

20-1643 Anti-fade Brake Hub/Nut Assembly Hon trx450r '04-14 1 20-1600b Hardware bolt 20-1600/01/40/43

Axles
20-1155sp Axle ATK 450mx/vr '09-11/Cannondale FX400/Moto/all Elim 2+2 2 20-1608 Hardware Hub Ring-thick-sm dia

2 20-1619 Hardware Hub Ring-thin-sm dia

20-1168p Axle CanAm DS450x/xc/mx '08-15 Elim +4" 1 652sps Hub Sprocket CanAm DS450 '08-10-steel

1 20-1614 Hardware C-Clip-Yam/Suz/Kaw

20-2168ex Axle CanAm DS450/xc/xmx '08-15 X-33 w/billet hubs 1 652sps Hub Sprocket CanAm DS450 '08-10-steel

1 20-1614 Hardware C-Clip-Yam/Suz/Kaw

1 20-1033bc Hubs CamAmDS450-X33-billet

2 20-1615 Hardware Bolt kit-X33 driver

1 20-1653 Bolt Kit Wheel Hub

20-1165p Axle CanAm DS650 '00-03 Elim +2" 0

20-1166p Axle CanAm DS650/Baja X-'04-07 Elim +2" 1 20-1637 Posi*Lock CanAm '00-07; alum/balanced-3 pc

20-2090sp Axle Dinli 50/90 '01-11 Elim +5 0

20-4090sp Axle DRX50/70/90 '06 Elim +1 0

20-2080sp Axle Eton 50/90 '98-10 Elim +4 0

20-1115sp Axle Hon 250r '82/200x '82-85 1 20025sp Hub Sprocket Hon '82 250r/200x

2 20-0018 Nut Axle Hub - 18mm-ea



Durablue, Inc.
Item List

05/13/2021 at 14:45:05 Page: 5

1 20-1635 Posi*Lock Yam Ban/Ra Elim-3 pc

1 20-1604 Hardware C-Clip-Ban/Raptor/Bla

2 20-1608 Hardware Hub Ring-thick-sm dia

2 20-1619 Hardware Hub Ring-thin-sm dia

20-1149sp Eliminator Axle Honda atc200x '86-87 2+2 1 49sp Hub Sprocket Hon 200x ‘86-87

2 20-0018 Nut Axle Hub - 18mm-ea

1 20-1635 Posi*Lock Yam Ban/Ra Elim-3 pc

1 20-1604 Hardware C-Clip-Ban/Raptor/Bla

2 20-1608 Hardware Hub Ring-thick-sm dia

2 20-1619 Hardware Hub Ring-thin-sm dia

1 20-1625 Hardware Bolt kit-200x/350x sprkt

20-1117sp Axle Hon 250r '83-84 Elim 2+2 1 25025sp Hub Sprocket Hon '83-84 250r

2 20-0018 Nut Axle Hub - 18mm-ea

1 20-1635 Posi*Lock Yam Ban/Ra Elim-3 pc

1 20-1604 Hardware C-Clip-Ban/Raptor/Bla

2 20-1608 Hardware Hub Ring-thick-sm dia

2 20-1619 Hardware Hub Ring-thin-sm dia

20-1130s Axle Hon 350x '85-86 HD+4 1 350xsps Hub Sprocket Hon 350x '85-86

1 20-1617 Hardware C-Clip-Hon s-flan/Yam

1 20-1625 Hardware Bolt kit-350x sprkt

2 20-1608b Hardware Hub Ring-thick-lg dia

20-1158sp Axle Hon trx250ex '01-08/trx250x '09-17 Elim 2+2 2 20-1608 Hardware Hub Ring-thick-sm dia

2 20-1619 Hardware Hub Ring-thin-sm dia

20-1151sp Axle Hon trx250r '86-89 Elim 1 86sp Hub Sprocket Hon trx250r/400ex

1 20-1617 Hardware C-Clip-Hon s-flan/Yam

2 20-1608b Hardware Hub Ring-thick-lg dia

2 20-1619b Hardware Hub Ring-thin-lg dia

20-2151ex Axle Hon trx250r X-33-billet 1 86sp Hub Sprocket Hon trx250r/400ex

1 20-1617 Hardware C-Clip-Hon s-flan/Yam

2 20-1615 Hardware Bolt kit-X33 driver

1 20-1620 Hardware Bolt kit-wheel hub-8

1 20-1033b Hubs Hon 4x110-X33 axle-billet-pr

20-1151ex Axle Hon trx250r X-33-cast 1 86sp Hub Sprocket Hon trx250r/400ex

1 20-1617 Hardware C-Clip-Hon s-flan/Yam

2 20-1615 Hardware Bolt kit-X33 driver



Durablue, Inc.
Item List

05/13/2021 at 14:45:05 Page: 6

1 20-1620 Hardware Bolt kit-wheel hub-8

1 20-1033 Hubs Hon 4x110mm-X33 axle-pr

20-1145 Axle Hon trx250x/trx300ex '87-08/trx300x '09-14 HD 1 250xsp Hub Sprocket Hon 250x/300ex-al

1 20-1617 Hardware C-Clip-Hon s-flan/Yam

2 20-1619 Hardware Hub Ring-thin-sm dia

20-1145sp Axle Hon trx250x/trx300ex '87-08/trx300x '09-14 Elim 2+2 1 250xsp Hub Sprocket Hon 250x/300ex-al

1 20-1617 Hardware C-Clip-Hon s-flan/Yam

2 20-1619 Hardware Hub Ring-thin-sm dia

2 20-1608 Hardware Hub Ring-thick-sm dia

20-1159p Axle Hon trx400ex '99-08/trx400x '09-14 Elim 1 86sp Hub Sprocket Hon trx250r/400ex

1 20-1617 Hardware C-Clip-Hon s-flan/Yam

2 20-1619 Hardware Hub Ring-thin-sm dia

20-1159sp Axle Hon trx400ex '99-08/trx400x '09-14 Elim 2+2 1 86sp Hub Sprocket Hon trx250r/400ex

1 20-1617 Hardware C-Clip-Hon s-flan/Yam

2 20-1619 Hardware Hub Ring-thin-sm dia

2 20-1608 Hardware Hub Ring-thick-sm dia

20-1159 Axle Hon trx400ex '99-08/trx400x '09-14 HD 1 86sp Hub Sprocket Hon trx250r/400ex

1 20-1617 Hardware C-Clip-Hon s-flan/Yam

2 20-1619 Hardware Hub Ring-thin-sm dia

20-2159ex Axle Hon trx400ex '99-08/trx400x '09-14 X-33 w/billet hubs 1 86sp Hub Sprocket Hon trx250r/400ex

1 20-1617 Hardware C-Clip-Hon s-flan/Yam

2 20-1615 Hardware Bolt kit-X33 driver

1 20-1620 Hardware Bolt kit-wheel hub-8

1 20-1033b Hubs Hon 4x110-X33 axle-billet-pr

20-1159ex Axle Hon trx400ex '99-08/trx400x '09-14 X-33 w/cast hubs 1 86sp Hub Sprocket Hon trx250r/400ex

1 20-1617 Hardware C-Clip-Hon s-flan/Yam

2 20-1615 Hardware Bolt kit-X33 driver

1 20-1620 Hardware Bolt kit-wheel hub-8

1 20-1033 Hubs Hon 4x110mm-X33 axle-pr

20-1169p Axle Hon trx450r '04-14 Elim 1 69sp Hub Sprocket Hon 450r '04-05

1 20-1617 Hardware C-Clip-Hon s-flan/Yam

2 20-1619 Hardware Hub Ring-thin-sm dia

20-1169 Axle Hon trx450r '04-14 HD 1 69sp Hub Sprocket Hon 450r '04-05

1 20-1617 Hardware C-Clip-Hon s-flan/Yam

2 20-1619 Hardware Hub Ring-thin-sm dia



Durablue, Inc.
Item List

05/13/2021 at 14:45:05 Page: 7

20-1169sp Axle Hon trx450r '04-14 Elim 2+2 1 69sp Hub Sprocket Hon 450r '04-05

1 20-1617 Hardware C-Clip-Hon s-flan/Yam

2 20-1619 Hardware Hub Ring-thin-sm dia

2 20-1608 Hardware Hub Ring-thick-sm dia

20-2169ex Axle Hon trx450r '04-14 X-33 w/billet hubs 1 69sp Hub Sprocket Hon 450r '04-05

1 20-1617 Hardware C-Clip-Hon s-flan/Yam

2 20-1615 Hardware Bolt kit-X33 driver

1 20-1620 Hardware Bolt kit-wheel hub-8

1 20-1033b Hubs Hon 4x110-X33 axle-billet-pr

20-1169ex Axle Hon trx450r '04-14 X-33 w/cast hubs 1 69sp Hub Sprocket Hon 450r '04-05

1 20-1617 Hardware C-Clip-Hon s-flan/Yam

2 20-1615 Hardware Bolt kit-X33 driver

1 20-1620 Hardware Bolt kit-wheel hub-8

1 20-1033 Hubs Hon 4x110mm-X33 axle-pr

20-0090sp Axle Hon trx90/ex '93-08/trx90x '09-17 Elim+3 1 20-1604 Hardware C-Clip-Ban/Raptor/Bla

1 90sp Hub Sprocket Hon 90 '93-05

20-1124sp Axle Kaw ktx250 Tecate 3 (hybrid 24 spline ends) '83-85 2+2 2 20-1608 Hardware Hub Ring-thick-sm dia

2 20-1619 Hardware Hub Ring-thin-sm dia

2 20-0018 Nut Axle Hub - 18mm-ea

20-1180sp Axle Kaw kxt250 Tecate 3 ‘86 Elim 2+2 1 20-1636 Posi*Lock Yam/Suz/Kaw Elim-3pc

2 20-1608 Hardware Hub Ring-thick-sm dia

2 20-1619 Hardware Hub Ring-thin-sm dia

2 20-0018 Nut Axle Hub - 18mm-ea

20-1146sp Axle Kaw kxt250 Tecate 4 ‘87-88 Elim 2+2 1 20-1636 Posi*Lock Yam/Suz/Kaw Elim-3pc

2 20-1608 Hardware Hub Ring-thick-sm dia

2 20-1619 Hardware Hub Ring-thin-sm dia

2 20-0018 Nut Axle Hub - 18mm-ea

20-1144p 2 20-1619 Hardware Hub Ring-thin-sm dia

20-2144ex 2 20-1615 Hardware Bolt kit-X33 driver

1 20-1620 Hardware Bolt kit-wheel hub-8

1 20-1037b Hubs Kaw 4x137-X33 axle-billet-pr

20-1143 Axle Kaw Mojave '87-04/Lakota '95-03 250 HD 2 20-1619 Hardware Hub Ring-thin-sm dia

20-1143sp Axle Kaw Mojave '87-04/Lakota '95-03 250 Elim 2+2 1 20-1636 Posi*Lock Yam/Suz/Kaw Elim-3pc

Axle Kaw 650/700 Prairie '97-06 / kfx700 '03-11/V-Force '03-06/Brute Force 650 '07-
13 std Elim

Axle Kaw 650/700 Prairie '97-06 / kfx700 '03-11/V-Force '03-06/Brute Force 650 '07-
13 X33 w/billet wheel hubs



Durablue, Inc.
Item List

05/13/2021 at 14:45:05 Page: 8

2 20-1608 Hardware Hub Ring-thick-sm dia

2 20-1619 Hardware Hub Ring-thin-sm dia

20-1171 Axle Kaw kfx450 '08-14 HD 2 20-1619 Hardware Hub Ring-thin-sm dia

20-1171p Axle Kaw kfx450 '08-14 Elim-std 2 20-1619 Hardware Hub Ring-thin-sm dia

1 20-1636 Posi*Lock Yam/Suz/Kaw Elim-3pc

20-1171sp Axle Kaw kfx450 '08-14 Elim 2+2 2 20-1608 Hardware Hub Ring-thick-sm dia

2 20-1619 Hardware Hub Ring-thin-sm dia

1 20-1636 Posi*Lock Yam/Suz/Kaw Elim-3pc

20-1171ex Axle Kaw kfx450 '08-14 X-33 w/cast hubs 1 20-1636 Posi*Lock Yam/Suz/Kaw Elim-3pc

2 20-1615 Hardware Bolt kit-X33 driver

1 20-1620 Hardware Bolt kit-wheel hub-8

1 20-1033 Hubs Hon 4x110mm-X33 axle-pr

20-2171ex Axle Kaw kfx450 '08-14 X-33 w/billet hubs 1 20-1636 Posi*Lock Yam/Suz/Kaw Elim-3pc

2 20-1615 Hardware Bolt kit-X33 driver

1 20-1620 Hardware Bolt kit-wheel hub-8

1 20-1033b Hubs Hon 4x110-X33 axle-billet-pr

20-1164p Axle KTM 450xc '09-11/450xs '09/11/505sx '09-12/525xc '08-12 Elim+2" 2 20-0018 Nut Axle Hub - 18mm-ea

2 20-1649 Hardware Cotter Pin 1/8" x 1 1/2"-ea

1 20-1617

1 20-1650 Hardware C-Clip-Yam yfz450/KTM-ea

1 20-1606w Hardware Capture Collar-Yam Warrior/KTM-ea

20-2164ex 1 20-1617

1 20-1650 Hardware C-Clip-Yam yfz450/KTM-ea

1 20-1606w Hardware Capture Collar-Yam Warrior/KTM-ea

1 20-1343bh Hubs Yam/KTM 4x110mm-X33 axle-bil-pr

1 20-1620 Hardware Bolt kit-wheel hub-8

2 20-1615 Hardware Bolt kit-X33 driver

20-0390sp Axle Kymco 90 '07-14 Elim+4 2 20-0390r Hardware Sleeve-20-0390sp-ea

20-0250sp Axle Kymco 250 '07-11 Elim2+2 2 20-1619 Hardware Hub Ring-thin-sm dia

2 20-1608 Hardware Hub Ring-thick-sm dia

1 20-1628 Posi*Lock Hon 300ex/400ex/450r

20-1163p Axle Polaris Predator 500 '03-07/Outlaw 525s '08-11 Elim+2 0

20-3090sp Axle Polaris Predator 90 '03-06 Elim+4 2 20-0390r Hardware Sleeve-20-0390sp-ea

20-1132p Axle Suz Q-rcr 250 '85-87 Elim 2+2-24 sp 1 qr250sp Hub Disk Suz Q-racer '85-95

Hardware C-Clip-Honda Sprocket Flange/Yam Warrior/KTM 
retainer

Axle KTM 450xc '09-11/450xs '09-11/505sx '09-12/525xc '08-12 Elim X-33 w/billet 
wheel hubs

Hardware C-Clip-Honda Sprocket Flange/Yam Warrior/KTM 
retainer



Durablue, Inc.
Item List

05/13/2021 at 14:45:05 Page: 9

1 20-1617 Hardware C-Clip-Hon s-flan/Yam

1 20-1636 Posi*Lock Yam/Suz/Kaw Elim-3pc

2 20-1619 Hardware Hub Ring-thin-sm dia

2 20-1608 Hardware Hub Ring-thick-sm dia

20-1132ex 1 qr250sp Hub Disk Suz Q-racer '85-95

1 20-1617 Hardware C-Clip-Hon s-flan/Yam

1 20-1636 Posi*Lock Yam/Suz/Kaw Elim-3pc

2 20-1615 Hardware Bolt kit-X33 driver

1 20-1620 Hardware Bolt kit-wheel hub-8

1 20-1533 Hubs Suz 5x130mm-X33 axle-pr

20-1134sp Axle Suz Q-rcr 250 '88-92 Elim 2+2-26sp 1 qr250sp Hub Disk Suz Q-racer '85-95

1 20-1617 Hardware C-Clip-Hon s-flan/Yam

1 20-1636 Posi*Lock Yam/Suz/Kaw Elim-3pc

2 20-1619b Hardware Hub Ring-thin-lg dia

2 20-1608b Hardware Hub Ring-thick-lg dia

20-1134 Axle Suz Q-rcr 250 '88-92 HD-26 sp 1 qr250sp Hub Disk Suz Q-racer '85-95

1 20-1617 Hardware C-Clip-Hon s-flan/Yam

2 20-1619b Hardware Hub Ring-thin-lg dia

20-1157 Axle Suz lt-z400 '09-16 HD 2 20-1619b Hardware Hub Ring-thin-lg dia

20-1157sp Axle Suz lt-z400 '09-16 Elim 2+2 2 20-1619b Hardware Hub Ring-thin-lg dia

2 20-1608b Hardware Hub Ring-thick-lg dia

20-2157ex Axle Suz lt-z400 '09-16 X-33 w/billet hubs 2 20-1615 Hardware Bolt kit-X33 driver

1 20-1620 Hardware Bolt kit-wheel hub-8

1 20-1033b Hubs Hon 4x110-X33 axle-billet-pr

20-1157ex Axle Suz lt-z400 '09-16 X-33 w/cast hubs 2 20-1615 Hardware Bolt kit-X33 driver

1 20-1620 Hardware Bolt kit-wheel hub-8

1 20-1033 Hubs Hon 4x110mm-X33 axle-pr

20-1126sp Axle Suz lt-r450 '06-14 Elim 2-2 2 20-1619b Hardware Hub Ring-thin-lg dia

2 20-1608b Hardware Hub Ring-thick-lg dia

20-1126ex Axle Suz lt-r450 '06-14 X33 w/cast hubs 2 20-1615 Hardware Bolt kit-X33 driver

1 20-1620 Hardware Bolt kit-wheel hub-8

1 20-1033 Hubs Hon 4x110mm-X33 axle-pr

20-2126ex Axle Suz lt-r450 '06-14 X-33 w/billet hubs 2 20-1615 Hardware Bolt kit-X33 driver

1 20-1620 Hardware Bolt kit-wheel hub-8

Axle Suz Q-rcr 250 '85-92 X33 w/cast 5x130mm hubs (available w/4x110 hubs-special 
order)



Durablue, Inc.
Item List

05/13/2021 at 14:45:05 Page: 10

1 20-1033b Hubs Hon 4x110-X33 axle-billet-pr

20-1138p Axle Suz ltz-250 '04-09 Elim 0

20-1139p Axle Suz ltz-250 '06-10/Ozark '02-09 Elim 0

20-1140sp Axle Suz Q-rcr 500 '87-90 Elim 2+2 2 20-1619b Hardware Hub Ring-thin-lg dia

2 20-1608b Hardware Hub Ring-thick-lg dia

20-1133sp Axle Suz Q-spt/Z 80 '87-06 Elim+3 0

20-2137ex 1 z400sp Hub Disk Suz/Kaw/ACat Z400

1 20-1617 Hardware C-Clip-Hon s-flan/Yam

1 20-1636 Posi*Lock Yam/Suz/Kaw Elim-3pc

2 20-1615 Hardware Bolt kit-X33 driver

1 20-1620 Hardware Bolt kit-wheel hub-8

1 20-1033b Hubs Hon 4x110-X33 axle-billet-pr

20-1137ex 1 z400sp Hub Disk Suz/Kaw/ACat Z400

1 20-1617 Hardware C-Clip-Hon s-flan/Yam

1 20-1636 Posi*Lock Yam/Suz/Kaw Elim-3pc

2 20-1615 Hardware Bolt kit-X33 driver

1 20-1620 Hardware Bolt kit-wheel hub-8

1 20-1033 Hubs Hon 4x110mm-X33 axle-pr

20-1137sp Axle Suz Z400 '03-08/Kaw kfx400 '03-06/Arctic Cat DVX 400 '04-08 Elim 2+2 1 z400sp Hub Disk Suz/Kaw/ACat Z400

1 20-1617 Hardware C-Clip-Hon s-flan/Yam

1 20-1636 Posi*Lock Yam/Suz/Kaw Elim-3pc

2 20-1619b Hardware Hub Ring-thin-lg dia

2 20-1608b Hardware Hub Ring-thick-lg dia

20-1137 Axle Suz Z400 '03-08/Kaw kfx400 '03-06/Arctic Cat DVX 400 '04-08 HD 1 z400sp Hub Disk Suz/Kaw/ACat Z400

1 20-1617 Hardware C-Clip-Hon s-flan/Yam

2 20-1619b Hardware Hub Ring-thin-lg dia

20-1142p 1 20-1635 Posi*Lock Yam Ban/Ra Elim-3 pc

1 20-1604 Hardware C-Clip-Ban/Raptor/Bla

2 20-1602 Nut Axle Hub - 7/8-14 Yam-ea

1 20-1606b Hardware Capture Collar-Yam/Ho

2 20-1619 Hardware Hub Ring-thin-sm dia

Axle Suz Z400 '03-08/Kaw kfx400 '03-06/Arctic Cat DVX 400 '04-08 Elim-X33 
w/billet hubs

Axle Suz Z400 '03-08/Kaw kfx400 '03-06/Arctic Cat DVX 400 '04-08 Elim-X33 w/cast 
hubs

Axle Yam Ban '87-06 std/Rap660 '01-05+2/Blstr '88-06+3/Kasea 170/250 '89-07+3 
Elim



Durablue, Inc.
Item List

05/13/2021 at 14:45:05 Page: 11

20-1142 Axle Yam Ban '87-06 std/Rap660 '01-05+2/Blstr '88-06+3/Kasea 170/250 '89-07 +3 HD 1 20-1604 Hardware C-Clip-Ban/Raptor/Bla

2 20-1602 Nut Axle Hub - 7/8-14 Yam-ea

1 20-1606b Hardware Capture Collar-Yam/Ho

2 20-1619 Hardware Hub Ring-thin-sm dia

20-1142sp Axle Yam Ban '87-06/Rap660 '01-05/Blstr '88-06/Kasea 170/250 '89-07 Elim 2+2 1 20-1635 Posi*Lock Yam Ban/Ra Elim-3 pc

1 20-1604 Hardware C-Clip-Ban/Raptor/Bla

2 20-1602 Nut Axle Hub - 7/8-14 Yam-ea

1 20-1606b Hardware Capture Collar-Yam/Ho

2 20-1619 Hardware Hub Ring-thin-sm dia

2 20-1608 Hardware Hub Ring-thick-sm dia

20-2142ex 1 20-1635 Posi*Lock Yam Ban/Ra Elim-3 pc

1 20-1604 Hardware C-Clip-Ban/Raptor/Bla

1 20-1606b Hardware Capture Collar-Yam/Ho

2 20-1615 Hardware Bolt kit-X33 driver

1 20-1620 Hardware Bolt kit-wheel hub-8

1 20-1343b Hubs Yam 4x115mm-X33 axle-bil-pr

20-1142ex 1 20-1635 Posi*Lock Yam Ban/Ra Elim-3 pc

1 20-1604 Hardware C-Clip-Ban/Raptor/Bla

1 20-1606b Hardware Capture Collar-Yam/Ho

2 20-1615 Hardware Bolt kit-X33 driver

1 20-1620 Hardware Bolt kit-wheel hub-8

1 20-1343 Hubs Yam 4x115mm-X33 axle-pr

20-1150p Axle Yam Big Bear '98 4wd & '99 (4wu) Elim 0

20-1148p Axle Yam Kodiak '93-99 Elim 1 20-1717 Hardware Seal-20-1148p

20-1156 Axle Yam Rap125 '11-14/Rap250 '08-15/Rap250r '11 HD 1 20-1604 Hardware C-Clip-Ban/Raptor/Bla

2 20-1602 Nut Axle Hub - 7/8-14 Yam-ea

1 20-1606b Hardware Capture Collar-Yam/Ho

2 20-1619 Hardware Hub Ring-thin-sm dia

20-1156sp Axle Yam Rap125 '11-14/Rap250 '08-15/Rap250r '11 Elim 2+2 1 20-1635 Posi*Lock Yam Ban/Ra Elim-3 pc

1 20-1604 Hardware C-Clip-Ban/Raptor/Bla

2 20-1602 Nut Axle Hub - 7/8-14 Yam-ea

1 20-1606b Hardware Capture Collar-Yam/Ho

Axle Yam Ban '87-06/Rap660 '01-05/Blaster '88-06/Kasea 170/250 '89-07 Elim-X33 
w/billet hubs (Blaster & Kasea must change wheel to 4x115mm)

Axle Yam Ban '87-06/Rap660 '01-05/Blaster '88-06/Kasea 170/250 '89-07 Elim-X33 
w/cast hubs (Blaster & Kasea must change wheel to 4x115mm)



Durablue, Inc.
Item List

05/13/2021 at 14:45:05 Page: 12

2 20-1619 Hardware Hub Ring-thin-sm dia

2 20-1608 Hardware Hub Ring-thick-sm dia

20-1156ex Axle Yam Rap125 '11-14/Rap250 '08-15/Rap250r '11 x-33 w/cast hubs 1 20-1635 Posi*Lock Yam Ban/Ra Elim-3 pc

1 20-1604 Hardware C-Clip-Ban/Raptor/Bla

1 20-1606b Hardware Capture Collar-Yam/Ho

2 20-1615 Hardware Bolt kit-X33 driver

1 20-1620 Hardware Bolt kit-wheel hub-8

1 20-1343 Hubs Yam 4x115mm-X33 axle-pr

20-2156ex Axle Yam Rap125 '11-14/Rap250 '08-15/Rap250r '11 x-33 w/billet wheel hubs 1 20-1635 Posi*Lock Yam Ban/Ra Elim-3 pc

1 20-1604 Hardware C-Clip-Ban/Raptor/Bla

1 20-1606b Hardware Capture Collar-Yam/Ho

2 20-1615 Hardware Bolt kit-X33 driver

1 20-1620 Hardware Bolt kit-wheel hub-8

1 20-1343b Hubs Yam 4x115mm-X33 axle-bil-pr

20-1127sp Axle Yam Rap350 '05-15 Elim 2+2 1 20-1635 Posi*Lock Yam Ban/Ra Elim-3 pc

1 20-1604 Hardware C-Clip-Ban/Raptor/Bla

2 20-1602 Nut Axle Hub - 7/8-14 Yam-ea

1 20-1606b Hardware Capture Collar-Yam/Ho

2 20-1619 Hardware Hub Ring-thin-sm dia

2 20-1608 Hardware Hub Ring-thick-sm dia

20-1127p Axle Yam Rap350 '05-15 std Elim 1 20-1635 Posi*Lock Yam Ban/Ra Elim-3 pc

1 20-1604 Hardware C-Clip-Ban/Raptor/Bla

2 20-1602 Nut Axle Hub - 7/8-14 Yam-ea

1 20-1606b Hardware Capture Collar-Yam/Ho

2 20-1619 Hardware Hub Ring-thin-sm dia

20-1127 Axle Yam Rap350 '05-15 std HD 1 20-1604 Hardware C-Clip-Ban/Raptor/Bla

2 20-1602 Nut Axle Hub - 7/8-14 Yam-ea

1 20-1606b Hardware Capture Collar-Yam/Ho

2 20-1619 Hardware Hub Ring-thin-sm dia

20-2127ex Axle Yam Rap350 '05-15 Elim X-33 w/billet hubs 1 20-1635 Posi*Lock Yam Ban/Ra Elim-3 pc

1 20-1604 Hardware C-Clip-Ban/Raptor/Bla

1 20-1606b Hardware Capture Collar-Yam/Ho

2 20-1615 Hardware Bolt kit-X33 driver

1 20-1620 Hardware Bolt kit-wheel hub-8



Durablue, Inc.
Item List

05/13/2021 at 14:45:05 Page: 13

1 20-1343b Hubs Yam 4x115mm-X33 axle-bil-pr

20-1127ex Axle Yam Rap350 '05-15 Elim-X33 w/cast hubs 1 20-1635 Posi*Lock Yam Ban/Ra Elim-3 pc

1 20-1604 Hardware C-Clip-Ban/Raptor/Bla

1 20-1606b Hardware Capture Collar-Yam/Ho

2 20-1615 Hardware Bolt kit-X33 driver

1 20-1620 Hardware Bolt kit-wheel hub-8

1 20-1343 Hubs Yam 4x115mm-X33 axle-pr

20-1153 Axle Yam Rap660 '01-05/Kasea 170/250 '89-08 std HD 1 20-1604 Hardware C-Clip-Ban/Raptor/Bla

1 20-1606b Hardware Capture Collar-Yam/Ho

2 20-1619 Hardware Hub Ring-thin-sm dia

2 20-1602 Nut Axle Hub - 7/8-14 Yam-ea

20-1153p Axle Yam Raptor 660 '01-05/Blstr '88-06/Kasea 170/250 '89-08 Elim 1 20-1635 Posi*Lock Yam Ban/Ra Elim-3 pc

1 20-1604 Hardware C-Clip-Ban/Raptor/Bla

1 20-1606b Hardware Capture Collar-Yam/Ho

2 20-1619 Hardware Hub Ring-thin-sm dia

2 20-1602 Nut Axle Hub - 7/8-14 Yam-ea

20-1152p Axle Yam Twolf '92-02 Elim 0

20-1141sp Axle Yam War 350 '86-04 Elim 1 20-1636 Posi*Lock Yam/Suz/Kaw Elim-3pc

1 20-1617 Hardware C-Clip-Hon s-flan/Yam

2 20-1619 Hardware Hub Ring-thin-sm dia

2 20-1602 Nut Axle Hub - 7/8-14 Yam-ea

1 20-1606w Hardware Capture Collar-Warrio

2 20-1608 Hardware Hub Ring-thick-sm dia

20-1141 Axle Yam War 350 '86-04 std HD 1 20-1617 Hardware C-Clip-Hon s-flan/Yam

2 20-1619 Hardware Hub Ring-thin-sm dia

2 20-1602 Nut Axle Hub - 7/8-14 Yam-ea

1 20-1606w Hardware Capture Collar-Warrio

20-2141ex Axle Yam War 350 X33-billet 1 20-1617 Hardware C-Clip-Hon s-flan/Yam

1 20-1636 Posi*Lock Yam/Suz/Kaw Elim-3pc

1 20-1606w Hardware Capture Collar-Warrio

2 20-1615 Hardware Bolt kit-X33 driver

1 20-1620 Hardware Bolt kit-wheel hub-8

1 20-1343b Hubs Yam 4x115mm-X33 axle-bil-pr

20-1141ex Axle Yam War 350 X33-cast hub 1 20-1617 Hardware C-Clip-Hon s-flan/Yam

1 20-1636 Posi*Lock Yam/Suz/Kaw Elim-3pc



Durablue, Inc.
Item List

05/13/2021 at 14:45:05 Page: 14

1 20-1606w Hardware Capture Collar-Warrio

2 20-1615 Hardware Bolt kit-X33 driver

1 20-1620 Hardware Bolt kit-wheel hub-8

1 20-1343 Hubs Yam 4x115mm-X33 axle-pr

20-1149p Axle Yam Wolverine 450 '06-11 Elim/Kodiak '00-01 0

20-1128 2 20-1602 Nut Axle Hub - 7/8-14 Yam-ea

2 20-1619 Hardware Hub Ring-thin-sm dia

1 20-1624 Hardware C-Clip-Hon Posi*Lock

20-1128sp Axle Yam yfz450 '04-09, 12-15 Elim 2+2 1 20-1651 Posi*Lock Yam yfz450 Elim-3 pc

2 20-1602 Nut Axle Hub - 7/8-14 Yam-ea

2 20-1619 Hardware Hub Ring-thin-sm dia

1 20-1624 Hardware C-Clip-Hon Posi*Lock

2 20-1608 Hardware Hub Ring-thick-sm dia

20-1128p 1 20-1651 Posi*Lock Yam yfz450 Elim-3 pc

2 20-1602 Nut Axle Hub - 7/8-14 Yam-ea

2 20-1619 Hardware Hub Ring-thin-sm dia

1 20-1624 Hardware C-Clip-Hon Posi*Lock

20-1128ex Axle Yam yfz450 '04-09, 12-15 Elim-X33 w/cast hubs 1 20-1651 Posi*Lock Yam yfz450 Elim-3 pc

2 20-1615 Hardware Bolt kit-X33 driver

1 20-1620 Hardware Bolt kit-wheel hub-8

1 20-1343 Hubs Yam 4x115mm-X33 axle-pr

1 20-1624 Hardware C-Clip-Hon Posi*Lock

20-2128ex Axle Yam yfz450 '04-09, 12-15 Elim X-33 w/billet wheel hubs 1 20-1651 Posi*Lock Yam yfz450 Elim-3 pc

2 20-1615 Hardware Bolt kit-X33 driver

1 20-1620 Hardware Bolt kit-wheel hub-8

1 20-1343b Hubs Yam 4x115mm-X33 axle-bil-pr

1 20-1624 Hardware C-Clip-Hon Posi*Lock

20-1172sp 1 20-1654 Posi*Lock Yam yfz450r '09-3 pc

2 20-1602 Nut Axle Hub - 7/8-14 Yam-ea

2 20-1619 Hardware Hub Ring-thin-sm dia

2 20-1608 Hardware Hub Ring-thick-sm dia

20-1172ex Axle Yam yfz450r-se '09-17/yfz450x '10-11 Elim-X33 w/cast hubs 1 20-1654 Posi*Lock Yam yfz450r '09-3 pc

2 20-1615 Hardware Bolt kit-X33 driver

1 20-1620 Hardware Bolt kit-wheel hub-8

1 20-1343 Hubs Yam 4x115mm-X33 axle-pr

Axle Yam yfz450 '04-09, 12-15 std HD

Axle Yam yfz450 '04-09, 12-15 std Elim

Axle Yam yfz450r-se '09-17 2-2/yfz450x '10-11 2+2 Elim



Durablue, Inc.
Item List

05/13/2021 at 14:45:05 Page: 15

20-2172ex Axle Yam yfz450r-se '09-17/yfz450x '10-11 Elim X-33 w/billet wheel hubs 1 20-1654 Posi*Lock Yam yfz450r '09-3 pc

2 20-1615 Hardware Bolt kit-X33 driver

1 20-1620 Hardware Bolt kit-wheel hub-8

1 20-1343b Hubs Yam 4x115mm-X33 axle-bil-pr

20-1154 2 20-1602 Nut Axle Hub - 7/8-14 Yam-ea

2 20-1619 Hardware Hub Ring-thin-sm dia

20-1154p Axle Yam Rap700 '06-15/Rap700r-se '15-17 Elim-std 1 20-1651 Posi*Lock Yam yfz450 Elim-3 pc

2 20-1602 Nut Axle Hub - 7/8-14 Yam-ea

2 20-1619 Hardware Hub Ring-thin-sm dia

20-1154sp Axle Yam Rap700 '06-15/Rap700r-se '15-17 Elim 2+2 1 20-1651 Posi*Lock Yam yfz450 Elim-3 pc

2 20-1602 Nut Axle Hub - 7/8-14 Yam-ea

2 20-1619 Hardware Hub Ring-thin-sm dia

2 20-1608 Hardware Hub Ring-thick-sm dia

20-1154ex Axle Yam Rap700 '06-15/Rap700r-se '15-17 Elim-X33 w/cast hubs 1 20-1651 Posi*Lock Yam yfz450 Elim-3 pc

2 20-1615 Hardware Bolt kit-X33 driver

1 20-1620 Hardware Bolt kit-wheel hub-8

1 20-1343 Hubs Yam 4x115mm-X33 axle-pr

20-2154ex Axle Yam Rap700 '06-15/Rap700r-se '15-17 Elim X-33 w/billet wheel hubs 1 20-1651 Posi*Lock Yam yfz450 Elim-3 pc

2 20-1615 Hardware Bolt kit-X33 driver

1 20-1620 Hardware Bolt kit-wheel hub-8

1 20-1343b Hubs Yam 4x115mm-X33 axle-bil-pr

Filters-Power

1965k Filter Yam-Ban 350 '87-05-kit 1 1965 Filter Yam-Ban '87-05-1965k

1 1965pl Filter Yam-Ban Plate-1965k

1 1965bk Hardware Bolt kit-1965/75/85k

1955k Filter-Power Air Yam-Rap700 '06-19-kit (clamp-on filter and mounting plate) 1 1955

1 1995bk Hardware Bolt Kit-1995k/1955bk

Axle Yam Rap700 '06-15; 700r-se '15-17 std HD

Only filter kits listed below have multiple parts, 
all others are individually packaged

Filter-Power Air Yam-Rap700 '06-17 replacement filter only 
(1955k kit)



Durablue, Inc.
Item List

05/13/2021 at 14:45:05 Page: 16

1 1955pl Filter-Power Air Yam Rap700 mounting plate only

1985k Filter-Power Air Yam Rap660 '01-05 two clamp-on filters and mounting plate 2 1985

1 1985pl

1 1965bk Hardware Bolt kit-1965/75/85k

1975k 1 1975

1 1975pl

1 1965bk Hardware Bolt kit-1965/75/85k

1995k 1 1995

1 1995pl

1 1995bk Hardware Bolt Kit-1995k/1955bk

Hardware
zerk Hardware - Zerk Fitting

20-1703l Hardware Anti-roll bracket-LH

20-1703r Hardware Anti-roll bracket-RH

20-1702 Hardware Anti-roll bushings-ea

20-1708 Hardware Anti-roll heim-LH

20-1713 Hardware Anti-roll heim-RH

20-1701 Hardware Anti-roll small parts

20-1701k Hardware Anti-roll small parts-KTM

20-1701abk Hardware Anti-roll small parts-Rap700

20-1701h Hardware Anti-roll small parts kit-Hon 20-1700h/b

20-1705 Hardware Anti-roll torsion arm

20-1704 Hardware Anti-roll torsion bar

20-1704el Hardware Anti-roll torsion+3"

Filter-Power Air Yam Rap660 '01-05 replacement filter (1985k 
kit)-eaFilter-Power Air Yam Raptor '01-05 mounting plate only (use 
1985 filters)

Filter-Power Yam Warrior '86-05/Wolverine 350 '95-05/Rap350 '04-14/Griz660 
'02-08 clamp-on filter and mounting plate

Filter-Power Air Yam Warrior '86-05/Wolverine '95-05/Rap350 
'04-14/Griz660 '02-08 replacement filter only (1975k kit)

Filter-Power Air Yam Warrior '86-05/Wolverine '95-05/Rap350 
'04-14/Griz660 '02-08 mounting plate only (use 1975 filter)

Filter-Power Yam-yfz450 '04-09 & 12-15/yfz450r '09-17/yfz450x '10-11 kit 
(clamp-on filter and mounting plate)

Filter-Power Air Yam-yfz450 '04-17 replacement filter only 
(1995k kit)

Filter-Power Air Yam-yfz450 '04-17 mounting plate only (use 
1995 filter)



Durablue, Inc.
Item List

05/13/2021 at 14:45:05 Page: 17

20-1707 Hardware Anti-roll tube hsg

20-1707el Hardware Anti-roll tube hsg+3"

20-1706l Hardware Anti-roll turn buck+1

20-1706 Hardware Anti-roll turn buckle

20-1716 Hardware Anti-roll bracket 20-1700s/20-1700b-pr

20-1710 Hardware Bearing-BAH/RAH

20-1607 Hardware Bearing-HAH-B/HAX-bal

20-1662 Hardware Bearing-Kaw 20-1144 series

20-1600b Hardware-Bolt 20-1600/01/40/43

20-1003bk Hardware Bolt Kit-20-1003

20-1005bk Hardware Bolt Kit-20-1005

20-1712 Hardware Bolt Kit-BAH-ea

20-1715 Hardware Bolt Kit-27AH-ea

20-1004bk Hardware Bolt Kit for 20-1004

1965bk Hardware Bolt Kit-1965/75/85k

1995bk Hardware Bolt Kit-1995k/1955k

20-1609a Hardware Bolt Kit-2.5" GL-8 pc

20-1002bk Hardware Bolt Kit-20-1002

20-1006bk Hardware Bolt Kit-20-1006/1066/1010/1015

20-1008bk Hardware Bolt Kit-20-1008

20-1009bk Hardware Bolt Kit-20-1009

20-1070bk Hardware Bolt Kit for 20-1070/1021

20-1609c Hardware Bolt Kit-20-1350-8

20-1625 Hardware Bolt Kit-350xsps sprkt

20-1601bk Hardware Bolt Kit-8x20mm-3 pc

20-1609k Hardware Bolt Kit-GL101

20-1609pf Hardware Bolt Kit-GL101f

20-1609f Hardware Bolt Kit-GL155f

20-1609ef Hardware Bolt Kit-Pol-GL110fp

20-1609e Hardware Bolt Kit-Pol-GL110p

20-1609d Hardware Bolt Kit-Pol-GL156

20-1609p Hardware Bolt Kit-Pol-GL156f

z400bk Hardware Bolt Kit-Z400ah

20-1629 Hardware Bolt Kit-WAH-ea

20-1615 Hardware Bolt Kit-X33 driver



Durablue, Inc.
Item List

05/13/2021 at 14:45:05 Page: 18

20-1620s Hardware Bolt Kit-shcs-wheel-8

20-1653 Hardware Bolt Kit-wheel hub bolt 10mm 1.5 pitch-8 pc

20-1604 Hardware C-Clip-Ban/Raptor/Bla

20-1624 Hardware C-Clip-Hon Posi*Lock

20-1617 Hardware C-Clip-Hon/Yam

20-1650 Hardware C-Clip-Yam YFZ 450/KTM

20-1614 Hardware C-Clip-Yam/Suz/Kaw

20-1606w Hardware Capture Collar-Warrior

20-1606b Hardware Capture Collar-Yam/Hon

20-1649 Hardware Cotter Pin 1/8" x 1 1/2"-ea

20-1619k Hardware Hub Ring-KTM 450XC/525XC

20-1619p Hardware Hub Ring-Predator

20-1608b Hardware Hub Ring-thick-lg dia

20-1608 Hardware Hub Ring-thick-sm dia

20-1619b Hardware Hub Ring-thin-lg dia

20-1619 Hardware Hub Ring-thin-sm dia

20-1621 Hardware Nut-Posi*lock-2 1/4

20-1621s Hardware Nut-Posi*lock-2 1/4-steel; fits 20-1627, 20-1628, 20-1644

20-1638 Hardware Screw for Posi*lock-1/4"-20

20-1638a Hardware Screw for Posi*lock-10-32

20-1711 Hardware Seal-BAH/RAH-ea

20-1618 Hardware Seal-HAH-B/HAX-ball-ea

20-1709b Hardware Seal-WAH-b ball-ea

20-1660 Hardware Seal-RAH700/YFZ450-ea

20-1661 Hardware Seal-z400ah-ball

20-1613 Hardware Sleeve-threaded-1636

20-1623 Hardware Sleeve-threaded-1627

20-1622 Hardware Sleeve-threaded-1628

20-1652 Hardware Sleeve-threaded-1651

20-1605 Hardware Sleeve-threaded-1635

20-1647 Hardware Sleeve-threaded-1644

20-1611 Hardware Spcr Ext Stud-1-1/2”-ea

20-1611-12c Hardware Spcr Ext Stud 12mm-1.5-1-1/2"-ea

20-1631 Hardware Spcr Ext Stud-1-1/2” Pol-ea

20-1610 Hardware Spcr Ext Stud-2-1/2”-ea



Durablue, Inc.
Item List

05/13/2021 at 14:45:05 Page: 19

20-1610-12 Hardware Spcr Ext Stud12mm-1.25-2-1/2"-ea

20-1610-12c Hardware Spcr Ext Stud 12mm-1.5-2-1/2"-ea

20-1610-8 Hardware Spcr Ext Stud-8mm-2-1/2”

20-1642 Hardware Spcr Ext Stud-2-1/2”  Pol-ea

20-1646 Hardware Spcr Ext Stud-1-1/2”  CanAm-ea

20-1666 Hardware Spacer-20-1700a kit

20-1611b Hardware Tube for BAH-ea

20-1611r Hardware Tube for HAH-B-ea

20-1611x Hardware Tube for HAX-ea

Hubs-Disc Brake
450br Hub Disk Hon trx450r '04-14-alum (fits all) 0

71br Hub Disk Kaw kfx450 '08-14-alum (fits all) 0

qr250sp Hub Disk Suz Qrcer 250 '85-95/Qsprt '85-86-3 bolt-alum (fits Durablue axles only) 1 20-1617 Hardware C-Clip-Hon s-flan/Yam

qr450br Hub Disk Suz lt-r450 '06-14-alum (fits all) 0

z400sp 1 20-1617 Hardware C-Clip-Hon s-flan/Yam

350br Hub Disk Yam Banshee '87-06-alum (fits all) 0

27br 0

660br Hub Disk Yam Rap660 '01-05-alum (fits all) 0

54br 0

28br Hub Disk Yam yfz450 '04-05-alum (fits all) 0

72br Hub Disc Yam yfz450r-se '09-17/yfz450x '10-11-alum (fits all) 0

Hubs-Sprocket
651sp Hub Sprocket CanAm DS650/Baja X '04-07-alum (fits all) 0

650sp Hub Sprocket CanAm DS650 '00-03-alum (fits all) 0

652sp Hub Sprocket CanAm DS450 '08-15-alum (fits Durablue axles only) 1 20-1614 Hardware C-Clip-Yam/Suz/Kaw

652sps Hub Sprocket CanAm DS450 '08-15-steel (fits Durablue axles only) 1 20-1614 Hardware C-Clip-Yam/Suz/Kaw

90sp Hub Sprocket Hon trx90ex '93-08/trx90x '09-17-alum (fits all) 1 20-1604 Hardware C-Clip-Ban/Raptor/Bla

Hub Disk Suz Z400 '03-08/Kaw kfx400 '03-06/Arctic Cat DVX 400 '04-07-alum (fits 
Durablue axles only)

Hub Disc Yam Rap125 '11-14/Rap250 '08-15/Rap 250r '11/Rap350 '06-15-alum 
(fits all)

Hub Disc Yam Rap700 '06-15/Rap700r-se '15-17/yfz450 '06-09, 12-15-alum (fits 
all)



Durablue, Inc.
Item List

05/13/2021 at 14:45:05 Page: 20

20025sp Hub Sprocket Hon 200x ‘82-85/'82 250r Elim axle-steel (fits Durablue axles only) 0

49sp Hub Sprocket Hon 200x ‘86-87 Elim axle-steel (fits Durablue axles only) 0

25025sp Hub Sprocket Hon '83-84 250r Elim axle-steel (fits Durablue axles only) 0

250xsp 1 20-1617 Hardware C-Clip-Hon s-flan/Yam

250xsps 1 20-1617 Hardware C-Clip-Hon s-flan/Yam

86sps 1 20-1617 Hardware C-Clip-Hon s-flan/Yam

86sp 1 20-1617 Hardware C-Clip-Hon s-flan/Yam

350xsps Hub Sprocket Hon 350x '85-86-steel (fits Durablue axles only) 1 20-1617 Hardware C-Clip-Hon s-flan/Yam

69sp Hub Sprocket Hon trx450r '04-14-alum (fits Durablue axles only) 1 20-1617 Hardware C-Clip-Hon s-flan/Yam

69sps Hub Sprocket Hon trx450r '04-14-steel (fits Durablue axles only) 1 20-1617 Hardware C-Clip-Hon s-flan/Yam

71sp Hub Sprocket Kaw kfx450 '08-14-alum (fits all) 0

qr450sp Hub Sprocket Suz lt-r450 '06-14-alum (fits all) 0

z400sh 0

350bsp Hub Sprocket Yam Ban350 '89-06-alum (fits all) 0

660rsp Hub Sprocket Yam Rap660 '01-05-alum (fits all) 0

27sp 0

28sp 0

72sp Hub Sprocket Yam yfz450r-se '09-17/yfz450x '10-11-alum (fits all) 1 20-1624 Hardware C-Clip-Hon Posi*Lock

Hubs-Rear Wheel
20-1334 1 20-1620s Hardware Bolt Kit-shcs-wheel-8

20-1334x 1 20-1620s Hardware Bolt Kit-shcs-wheel-8

1334/115 1 20-1620s Hardware Bolt Kit-shcs-wheel-8

20-1331 1 20-1620s Hardware Bolt Kit-shcs-wheel-8

Hub Sprocket Hon trx250x/trx300ex '87-08/trx300x '09-14-alum (fits Durablue 
axles only)

Hub Sprocket Hon trx250x/trx300ex '87-08/trx300x '09-14-steel (fits Durablue 
axles only)

Hub Sprocket Hon 250r '85 (must use '86-89 sprocket and bolts)/trx250r 
'86-89/trx400ex '99-08/trx400x '09-14-steel (fits Durablue axles only)

Hub Sprocket Hon 250r '85 (must use '86-89 sprocket and bolts)/trx250r 
'86-89/trx400ex '99-08/trx400x '09-14-alum (fits Durablue axles only)

Hub Sprocket Suz Z400 '03-08/Kaw kfx400 '03-06/Arctic Cat DVX 400 '04-08-alum 
(fits all)

Hub Sprocket Yam Rap125 '11-14/Rap250 '08-15/Rap250r '11/Rap350 '05-15-
alum (fits all)
Hub Sprocket Yam Rap700 '06-15/Rap700r-se '15-16/yfz450 '04-09, 12-15-alum 
(fits all)

Hubs Rear Wheel Hon 
4x110mm-trx250x/trx250ex/trx300ex/trx300x/trx400ex/trx400x/trx450r-pr

Hubs Rear Wheel Hon 
4x110mm-trx250x/trx250ex/trx300ex/trx300x/trx400ex/trx400x/trx450r-extended +1"-
pr
Hubs Rear Wheel Hon 
4x115mm-trx250x/trx250ex/trx300ex/trx300x/trx400ex/trx400x/trx450r (Honda spline 
w/Yam wheel)-pr

Hubs Rear Wheel Hon 4x110mm-250r '85-86/trx250r '85-89/atc350x '85-87-25 spline-
pr



Durablue, Inc.
Item List

05/13/2021 at 14:45:05 Page: 21

20-1331x 1 20-1620s Hardware Bolt Kit-shcs-wheel-8

20-1347 Hubs Rear Wheel Kaw Tecate/Mojave-24 spline 4x110 (Honda wheel)-pr 1 20-1620s Hardware Bolt Kit-shcs-wheel-8

1350/110k Hubs Rear Wheel KTM 450XC/525XC '08-10 4x110mm-pr 1 20-1620s Hardware Bolt Kit-shcs-wheel-8

2 20-1619k Hardware Hub Ring-KTM 450XC/525XC

20-1351 1 20-1620s Hardware Bolt Kit-shcs-wheel-8

1 20-1881 Nut Wheel Lug Alum 10mm flat seat-8 pc

1 1350/110

1350/110p 1 20-1620s Hardware Bolt Kit-shcs-wheel-8

2 20-1619p Hardware Hub Ring-Predator

20-1350 1 20-1609c Hardware Bolt kit-20-1350-8

1350/110 1 20-1620s Hardware Bolt Kit-shcs-wheel-8

20-1339 Hubs Rear Wheel Suz 230/250 4x130mm-24 spline-pr 1 20-1620s Hardware Bolt Kit-shcs-wheel-8

20-5130 Hubs Rear Wheel Suz Qracer 250 '88-92/Qracer 500 5x130mm-26 sp-pr 1 20-1620s Hardware Bolt Kit-shcs-wheel-8

1341/110 1 20-1620s Hardware Bolt Kit-shcs-wheel-8

1341/110x 1 20-1620s Hardware Bolt Kit-shcs-wheel-8

1341/115 1 20-1620s Hardware Bolt Kit-shcs-wheel-8

20-1337 Hubs Rear Wheel Suz lt-z400 '09-10/lt-r450 '06-10 4x110mm-26sp-pr 1 20-1620s Hardware Bolt Kit-shcs-wheel-8

20-1337x Hubs Rear Wheel Suz lt-z 400 '09-10/lt-r450 '06-10 4x110mm-26sp-extended+1"-pr 1 20-1620s Hardware Bolt Kit-shcs-wheel-8

20-1340 1 20-1620s Hardware Bolt kit-shcs wheel hub-8

20-1340x 1 20-1620s Hardware Bolt kit-shcs wheel hub-8

Hubs Rear Wheel Hon 4x110mm-250r '85-86/trx250r '85-89/atc350x '85-87-25 spline-
extended+1"-pr

Hubs Rear Wheel Polaris Outlaw 525s '08-10 (straight axle)-pr; includes 20-1881 billet 
lug nuts

Hubs Rear Wheel Polaris (not Predator) 4x110mm (Polaris 23 
sp w/Honda wheel)-pr

Hubs Rear Wheel Polaris Predator 500 '03-07 4x110mm (Polaris 23 sp w/Honda 
wheel)-pr

Hubs Rear Wheel Polaris Scrambler 500 '98-10/Trailboss 330 '98-10/Trailblazer 330 
'98-10 4x101mm 23 sp-pr

Hubs Rear Wheel Polaris Scrambler 500 '98-10/Trailboss 330 '98-10/Trailblazer 330 
'98-10 4x110mm (Polaris 23 sp w/Honda wheel)-pr

Hubs Rear Wheel Suz Qracer 500 '87-90/Qracer 250 '88-92 (Suz 26 spline w/Honda 
wheel)/Z400 '03-08/Kaw kfx400 '03-06/Arctic Cat DVX 400 '04-07-pr

Hubs Rear Wheel Suz Qracer 500 '87-90/Qracer 250 '88-92 (Suz 26 spline w/Honda 
wheel)/Z400 '03-08/Kaw kfx400 '03-06/Arctic Cat DVX 400 '04-07-extended +1"-pr

Hubs Rear Wheel Suz Qracer 500 '87-90/Qracer 250 '88-92/Z400 '03-08/Kaw kfx400 
'03-06/Arctic Cat DVX 400 '04-07 4x115 (Suz 26 spline w/Yam wheel)-pr

Hubs Rear Wheel Yam Rap700-r-se '06-17/660 01-05/350 '05-15/250 '08-15/125 '11-
14/Ban350 '01-06/War350 '86-04/yfz450 '04-09, 12-15/450r-se '09-17/450x '10-11-pr

Hubs Rear Wheel Yam Rap700-r-se '06-17/660 01-05/350 '05-15/250 '08-15/125 '11-
14/Ban350 '01-06/War350 '86-04/yfz450 '04-09, 12-15/450r '09-17/450x '10-11+1"-pr



Durablue, Inc.
Item List

05/13/2021 at 14:45:05 Page: 22

1340/110 1 20-1620s Hardware Bolt Kit-shcs-wheel-8

Hubs-Rear Wheel-X-33 Replacement Wheel Hubs
20-1033bc Hubs Rear Wheel  CanAm-68ex axle-billet-pr 1 20-1653 Hardware Bolt Kit-wheel hub bolt 10mm 1.5 pitch-8 pc

2 20-1615 Hardware Bolt kit-X33 driver

20-1033 Hubs Rear Wheel Hon-29ex, 45ex, 51ex, 59ex, 69ex-cast-pr 1 20-1620s Hardware Bolt Kit-shcs-wheel-8

2 20-1615 Hardware Bolt kit-X33 driver

20-1033b Hubs Rear Wheel Hon-29ex, 45ex, 51ex, 59ex, 69ex-billet-pr 1 20-1620s Hardware Bolt Kit-shcs-wheel-8

2 20-1615 Hardware Bolt kit-X33 driver

20-1037b Hubs Rear Wheel  Kaw 4x137-X33 axle-billet-pr 1 20-1620s Hardware Bolt Kit-shcs-wheel-8

2 20-1615 Hardware Bolt kit-X33 driver

20-1533 Hubs Rear Wheel Suz 5x130mm-X33 axle-cast-pr 1 20-1620s Hardware Bolt Kit-shcs-wheel-8

2 20-1615 Hardware Bolt kit-X33 driver

20-1343bh Hubs Rear Wheel Yam/KTM 4x110mm-X33 axle-billet (Yam w/Honda wheel)-pr 1 20-1620s Hardware Bolt Kit-shcs-wheel-8

2 20-1615 Hardware Bolt kit-X33 driver

20-1343 Hubs Rear Wheel Yam 4x115mm-X33 axle-cast-pr 1 20-1620s Hardware Bolt Kit-shcs-wheel-8

2 20-1615 Hardware Bolt kit-X33 driver

20-1343b Hubs Rear Wheel Yam 4x115mm-X33 axle-billet-pr 1 20-1620s Hardware Bolt Kit-shcs-wheel-8

Lowering Kits-Front
20-1002 Lowering Kit Hon trx250r '86-89/trx400ex '99-08/trx400x '09-14-front 1 20-1002bk Hardware Bolt kit-20-1002

20-1004 Lowering Kit Hon trx250x/trx300ex '87-08/trx300x '09-14-front 1 20-1004bk Hardware Bolt kit for 20-1004

20-1005 Lowering Rear Strut Hon trx250x/trx300ex '87-08/trx300x '09-14-rear 1 20-1005bk Hardware Bolt Kit-20-1005

1 20-1005s Hardware-sleeve for 20-1005

20-1008 Lowering Kit Hon trx450r '04-14-front 1 20-1008bk Hardware Bolt kit-20-1008

20-1010 Lowering Kit Kaw kfx450 '08-14-front 1 20-1006bk Hardware Bolt kit-20-1006 & 66

20-1012 Lowering Kit Kymco 250 -'06-11-front 1 20-1002bk Hardware Bolt kit-20-1002

20-1007 1 20-1002bk Hardware Bolt kit-20-1002

20-1015 Lowering Kit Suz lt-r450 '06-14-front 1 20-1006bk Hardware Bolt Kit-20-1006/1066/1015

20-1006 Lowering Kit Yam Banshee '91-06-front 1 20-1006bk Hardware Bolt kit-20-1006 & 66

Hubs Rear Wheel Yam Rap700-r '06-17/660 01-05/350 '05-15/250 '08-15/125 
'11-14/Ban350 '01-06/War350 '86-04/yfz450 '04-15/450r '09-17/450x '10-11 (Hon 
wheel)-pr

Lowering Kit Suz Z400 '03-08/Suz lt-z400 '09-10/Suz lt-z250 '05-10/Ozark lft250 '05-
10/Kaw kfx400 '03-06/Arctic Cat DVX 400 '04-08-front



Durablue, Inc.
Item List

05/13/2021 at 14:45:05 Page: 23

20-1021 Lowering Kit Yam Blaster '88-06-front 1 20-1070bk Hardware Bolt Kit for 20-1070/20-1021

20-1066 Lowering Kit Yam Raptor 660 '01-05-front 1 20-1006bk Hardware Bolt kit-20-1006 & 66

20-1070 Lowering Kit Yam Rap700 '06-15/Rap700r-se '15-17-front 1 20-1070bk Hardware Bolt Kit for 20-1070/20-1021

20-1013 Lowering Kit Yam yfz450r-se '09-17/yfz450x '10-11-front 1 20-1013bk Hardware Bolt Kit for 20-1013

20-1009 Lowering Kit Yam yfz450 '04-09 & 12-15-front 1 20-1009bk Hardware Bolt kit-20-1009

Lowering Kits-Rear
das-4h Lowering Rear Strut Hon trx250r '86-adjustable 0

das-7h Lowering Rear Strut Hon trx250r '87-89-adjustable 0

das-8h 0

das-9h Lowering Rear Strut Hon trx450r '04-14-adjustable*see 27-1121 for bearing/seal kit 0

20-1011 Lowering Rear Strut Kaw kfx450 '08-14 U-Link non-adj 0

20-1017 0

20-1027 Lowering Rear Strut Suz lt-z 400 '09-16 U-Link non-adj 2 zerk Hardware - Zerk Fitting

20-1018 Lowering Rear Strut Suz lt-r450 '06-14 U-Link non-adj 0

das-y 2 zerk Hardware - Zerk Fitting

das-r 0

20-1019 0

20-1020 0

Nuts-Axle End/Front Spindle
20-0014 Nut Axle Hub - 14mm-ea 0

20-0018 Nut Axle Hub - 18mm-ea 0

20-0020 Nut Axle Hub - 20mm-ea 0

20-0750 Nut Axle Hub - 3/4-16 Pol-ea 0

20-1602 Nut Axle Hub - 7/8-14 Yam-ea 0

20-1818 Nut Axle Hub Alum Bullet-18mm-2 pc 0

20-1818bl Nut Axle Hub Alum Bullet-18mm-BLACK Anodize-2 pc 0

Lowering Rear Strut Hon trx400ex '99-08/trx400x '09-14-adjustable*see 27-1048 for 
bearing/seal kit

Lowering Rear Strut Suz Z400 '03-08/Kaw kfx400 '03-06/Arctic Cat DVX 400 
'04-07 U-Link non-adj

Lowering Rear Strut Yam Banshee 350 '87-06-stepped adjustment*see 27-1002 for 
bearing/seal kit

Lowering Rear Strut Yam Rap700 '06-15/Rap700r-se '15-17/Rap660 '01-05-
adjustable

Lowering Rear Strut Yam yfz450 '04-09, 12-15 U-Link non-adj

Lowering Rear Strut Yam yfz450r-se '09-17/yfz450x '10-11 U-Link non-adj



Durablue, Inc.
Item List

05/13/2021 at 14:45:05 Page: 24

20-1818b Nut Axle Hub Alum Bullet-18mm-BLUE Anodize-2 pc 0

20-1818g Nut Axle Hub Alum Bullet-18mm-GOLD Anodize-2 pc 0

20-1818r Nut Axle Hub Alum Bullet-18mm-RED Anodize-2 pc 0

20-1820 Nut Axle Hub Alum Bullet-20mm-2 pc 0

20-1820bl Nut Axle Hub Alum Bullet-20mm-BLACK anodize-2 pc 0

20-1820b Nut Axle Hub Alum Bullet-20mm-BLUE anodize-2 pc 0

20-1820g Nut Axle Hub Alum Bullet-20mm-GOLD anodize-2 pc 0

20-1820r Nut Axle Hub Alum Bullet-20mm-RED anodize-2 pc 0

20-1875 Nut Axle Hub Alum Bullet-7/8-2 pc 0

20-1875bl Nut Axle Hub Alum Bullet-7/8-BLACK anodize-2 pc 0

20-1875b Nut Axle Hub Alum Bullet-7/8-BLUE anodize-2 pc 0

20-1875g Nut Axle Hub Alum Bullet-7/8-GOLD anodize-2 pc 0

20-1875r Nut Axle Hub Alum Bullet-7/8-RED anodize-2 pc 0

20-1821 Nut Spindle Frt Hub Alum Bullet-14mm-2 pc 0

20-1821bl Nut Spindle Frt Hub Alum Bullet-14mm-BLACK Anodize-2 pc 0

20-1821b Nut Spindle Frt Hub Alum Bullet-14mm-BLUE Anodize-2 pc 0

20-1821g Nut Spindle Frt Hub Alum Bullet-14mm-GOLD Anodize-2 pc 0

20-1821r Nut Spindle Frt Hub Alum Bullet-14mm-RED Anodize-2 pc 0

Nuts-Wheel Lugs
20-1881 Nut Wheel Lug Alum 10mm flat seat-8 pc 0

20-1881r Nut Wheel Lug Alum 10mm flat seat-RED anodize-8 pc 0

20-1881b Nut Wheel Lug Alum 10mm flat seat-BLUE anodize-8 pc 0

20-1881g Nut Wheel Lug Alum 10mm flat seat-GOLD anodize-8 pc 0

20-1881bl Nut Wheel Lug Alum 10mm flat seat-BLACK anodize-8 pc 0

20-1880 Nut Wheel Lug Alum 10mm taper seat-8 pc 0

20-1880r Nut Wheel Lug Alum 10mm taper seat-RED anodize-8 pc 0

20-1880b Nut Wheel Lug Alum 10mm taper seat-BLUE anodize-8 pc 0

20-1880g Nut Wheel Lug Alum 10mm taper seat-GOLD anodize-8 pc 0

20-1880bl Nut Wheel Lug Alum 10mm taper seat-BLACK anodize-8 pc 0

Parking Brake Block Off
92-1001 Parking Brake Block-Off Plate 0



Durablue, Inc.
Item List

05/13/2021 at 14:45:05 Page: 25

92-1001b Parking Brake Block-Off Plate-BLUE anodize 0

92-1001g Parking Brake Block-Off Plate-GOLD anodize 0

92-1001r Parking Brake Block-Off Plate-RED anodize 0

92-1001bl Parking Brake Block-Off Plate-BLACK anodize 0

Posi-Locks
20-1627 1 20-1638 Hardware Screw for Posi*lock-1/4"-20

1 20-1621 Hardware Nut-Posi*lock-2 1/4

1 20-1623 Hardware Sleeve-threaded-1627

1 20-1624 Hardware C-Clip-Hon Posi*Lock

20-1627s 1 20-1638 Hardware Screw for Posi*lock-1/4"-20

1 20-1621s

1 20-1623 Hardware Sleeve-threaded-1627

1 20-1624 Hardware C-Clip-Hon Posi*Lock

20-1628 1 20-1638 Hardware Screw for Posi*lock-1/4"-20

1 20-1621 Hardware Nut-Posi*lock-2 1/4

1 20-1622 Hardware Sleeve-threaded-1628

1 20-1624 Hardware C-Clip-Hon Posi*Lock

20-1628s 1 20-1638 Hardware Screw for Posi*lock-1/4"-20

1 20-1621s

1 20-1622 Hardware Sleeve-threaded-1628

1 20-1624 Hardware C-Clip-Hon Posi*Lock

20-1717 Posi*Lock Suzuki Quad Racer 500 '87-90 (fits all)-aluminum -pr 2 20-1638 Hardware Screw for Posi*lock-1/4"-20

20-1634 1 20-1638a Hardware Screw for Posi*lock-10-32

20-1644 1 20-1624 Hardware C-Clip-Hon Posi*Lock

1 20-1621 Hardware Nut-Posi*lock-2 1/4

1 20-1647 Hardware Sleeve-threaded-1644

20-1644s 1 20-1624 Hardware C-Clip-Hon Posi*Lock

Posi*Lock Hon atc250r '85-86, trx250r '86-89, atc350x '85-86 (fits all)-3 pc

Posi*Lock Hon atc250r '85-86, trx250r '86-89, atc350x '85-86 (fits all)-3 pc-steel

Hardware Nut-Posi*lock-2 1/4-steel; fits 20-1627, 20-1628, 20-
1644

Posi*Lock Hon trx300ex '87-08, trx300x '09-14, trx400ex '99-08, trx400x '09-14, 
trx450r '04-14 (fits all)-3 pc

Posi*Lock Hon trx300ex '87-08, trx300x '09-14, trx400ex '99-08, trx400x '09-14, 
trx450r '04-14 (fits all)-3 pc-steel

Hardware Nut-Posi*lock-2 1/4-steel; fits 20-1627, 20-1628, 20-
1644

Posi*Lock Suz Qrcr 250 '85-92/Qsprt '85-96/Z400 '03-08/Kaw KFX400 '03-06/Arctic 
Cat DVX400 '04-07 (fits all except Durablue Elim)-1 pc

Posi*Lock Suz lt-r450 '06-14, lt-z400 '09-16 (fits all)-3 pc

Posi*Lock Suz lt-r450 '06-14, lt-z400 '09-16 (fits all)-3 pc-steel



Durablue, Inc.
Item List

05/13/2021 at 14:45:05 Page: 26

1 20-1621s

1 20-1647 Hardware Sleeve-threaded-1644

20-1632 Posi*Lock Yam Banshee '87-06/Blaster '88-06 (fits all except Durablue Elim)-1 pc 1 20-1638a Hardware Screw for Posi*lock-10-32

20-1635 1 20-1621 Hardware Nut-Posi*lock-2 1/4

1 20-1604 Hardware C-Clip-Ban/Raptor/Bla

1 20-1605 Hardware Threaded Inner-Yam

1 20-1638 Hardware Screw for Posi*lock-1/4"-20

20-1635s 1 20-1621s Hardware Nut-Posi*lock-2 1/4-steel

1 20-1604 Hardware C-Clip-Ban/Raptor/Bla

1 20-1605 Hardware Threaded Inner-Yam

1 20-1638 Hardware Screw for Posi*lock-1/4"-20

20-1639 1 20-1638a Hardware Screw for Posi*lock-10-32

20-1633 Posi*Lock Kaw kfx450 '08-14/Yam Warrior '86-04 (fits all except Durablue Elim)-1 pc 1 20-1638a Hardware Screw for Posi*lock-10-32

20-1651 1 20-1621 Hardware Nut-Posi*lock-2 1/4

1 20-1652 Hardware Sleeve-threaded-1651

1 20-1650 Hardware C-Clip-Yam YFZ 450

1 20-1638 Hardware Screw for Posi*lock-1/4"-20

20-1651s 1 20-1621s Hardware Nut-Posi*lock-2 1/4-steel

1 20-1652 Hardware Sleeve-threaded-1651

1 20-1650 Hardware C-Clip-Yam YFZ 450

1 20-1638 Hardware Screw for Posi*lock-1/4"-20

20-1641 1 20-1638a Hardware Screw for Posi*lock-10-32

20-1654 1 20-1621 Hardware Nut-Posi*lock-2 1/4

1 20-1614 Hardware C-Clip-Yam/Suz/Kaw

1 20-1647 Hardware Sleeve-threaded-1644

20-1654s 1 20-1621s Hardware Nut-Posi*lock-2 1/4-steel

1 20-1614 Hardware C-Clip-Yam/Suz/Kaw

Hardware Nut-Posi*lock-2 1/4-steel; fits 20-1627, 20-1628, 20-
1644

Posi*Lock Yam Ban '87-06, Rap660 '01-05, Blas '88-06, Rap125 '11-14, Rap250 
'08-14, Rap250r '11, Rap350 '05-14 (fits Durablue Elim only)-3 pc

Posi*Lock Yam Ban '87-06, Rap660 '01-05, Blas '88-06, Rap125 '11-14, Rap250 
'08-14, Rap250r '11, Rap350 '05-14 (fits Durablue Elim only)-3 pc-steel

Posi*Lock Yam Rap660 '01-05, Rap350 '05-14, Rap250 '08-14, Rap250r '11, 
Rap125 '11-14 (fits all except Durablue Elim)-1 pc

Posi*Lock Yam Rap700 '06-15/Rap700r-se '15-17/yfz450 '04-09, 12-15 (fits 
Durablue Elim only)-3 pc

Posi*Lock Yam Rap700 '06-16/Rap700r-se '15-17/yfz450 '04-09, 12-15 (fits 
Durablue Elim only)-3 pc-steel

Posi*Lock Yam Rap700 '06-15/Rap700r-se '15-17/yfz450 '04-09, 12-15 (fits all 
except Durablue Elim)-1 pc

Posi*Lock Yam yfz450r-se '09-17/yfz450x '10-11 (fits Durablue Elim only)-3 pc

Posi*Lock Yam yfz450r-se '09-17/yfz450x '10-11 (fits Durablue Elim only)-3 pc-
steel



Durablue, Inc.
Item List

05/13/2021 at 14:45:05 Page: 27

1 20-1647 Hardware Sleeve-threaded-1644

20-1636 1 20-1638 Hardware Screw for Posi*lock-1/4"-20

1 20-1613 Hardware Sleeve-threaded inner

1 20-1614 Hardware C-Clip-Yam/Suz/Kaw

1 20-1621 Hardware Nut-Posi*lock-2 1/4

20-1636s 1 20-1638 Hardware Screw for Posi*lock-1/4"-20

1 20-1613 Hardware Sleeve-threaded inner

1 20-1614 Hardware C-Clip-Yam/Suz/Kaw

1 20-1621s Hardware Nut-Posi*lock-2 1/4-steel

Skid Plates-Hammerforce Composite
23-1030 0

23-1038 Skid Plate Hon trx400ex '99-08/trx400x '09-14 Hammerforce Composite-Swingarm-ea 0

23-1031 Skid Plate Yam Banshee '87-06 Hammerforce Composite-Swingarm-ea 0

Spacers-Wheel
ws4110f Spacers Alum 4x110mm Hon 1.5 8 20-1611 Hardware Spcr Ext Stud-1-1/2”-ea

ws4110fc Spacers Alum 4x110mm CanAm DS450 (r)-1.5" -pr 8 20-1646 Hardware Spcr Ext Stud-1-1/2”-ea

ws4110fp Spacers Alum 4x110mm Pol-1.5" -pr 8 20-1631 Hardware Spcr Ext Stud-1-1/2”-ea

ws4110p Spacers Alum 4x110mm Pol-2.5" -pr 8 20-1642 Hardware Spcr Ext Stud-2-1/2”-ea

ws4137f Spacers Alum 4x137mm CanAm/Kaw-1.5" -pr 8 20-1611 Hardware Spcr Ext Stud-1-1/2”-ea

ws4137-10 Spacers Alum 4x137mm CanAm/Kaw-2.5" -pr 8 20-1610 Hardware Spcr Ext Stud-2-1/2”-ea

ws4144f Spacers Alum 4x144mm Hon-1.5 -pr 8 20-1611 Hardware Spcr Ext Stud-1-1/2”-ea

ws4155 Spacers Alum 4x156mm Yam/Kaw/Pol ATV-2.5" -pr 8 20-1610 Hardware Spcr Ext Stud-2-1/2”-ea

ws4155f Spacers Alum 4x156mm Yam/Kaw/Pol ATV-1.5" -pr 8 20-1611 Hardware Spcr Ext Stud-1-1/2”-ea

utv4110y SpacersEZ 4x110 mm Hon/Suz/Yam SXS-2.5" -pr 8 20-1610 Hardware Spcr Ext Stud-2-1/2”-ea

utv4110fy
SpacersEZ 4x110 mm CFMOTO ATV-UTV/Hon-Suz ATV/Yam ATV/SXS-1-1/2" -pr

8 20-1611 Hardware Spcr Ext Stud-1-1/2”-ea

utv4110h SpacersEZ 4x110mm Hon SXS-2.5" -pr 8 20-1610-12c Hardware EZ Stud Extender 12mm-1.5-2-1/2"-ea

Posi*Lock Yam War '86-04/Suz Qrcr 250 '85-92,Qsport '85-96,Z400 '03-08/Kaw 
kfx400 '03-06,kfx450r '08-14/ACat 400 '04-07 (fits Durablue Elim only)-3 pc

Posi*Lock Yam War '86-04/Suz Qrcr 250 '85-92,Qsport '85-96,Z400 '03-08/Kaw 
kfx400 '03-06,kfx450r '08-14/ACat 400 '04-07 (fits Durablue Elim only)-3 pc-steel

Skid Plate Hon trx250x/trx300ex '87-08/trx300x '09-14 Hammerforce Composite-
Swingarm-ea



Durablue, Inc.
Item List

05/13/2021 at 14:45:05 Page: 28

utv4110v SpacersEZ 4x110mm Yam SXS 2.5" -pr 8 20-1610-12 Hardware EZ Stud Extender 12mm-1.25-2-1/2"-ea

utv4115 SpacersEZ 4x115mm Yam ATV/Arctic Cat SXS-2.5" -pr 8 20-1610 Hardware Spcr Ext Stud-2-1/2”-ea

utv4115f SpacersEZ 4x115mm Yam ATV/Arctic Cat SXS-1.5" -pr 8 20-1611 Hardware Spcr Ext Stud-1-1/2”-ea

utv4115-12 SpacersEZ 4x115mm Textron Wildcat X-2.5" -pr 8 20-1610-12c Hardware EZ Stud Extender 12mm-1.5-2-1/2"-ea

utv4137 SpacersEZ 4x137mm Kaw SXS-2.5" -pr 8 20-1610-12 Hardware EZ Stud Extender 12mm-1.25-2-1/2"-ea

utv4137h SpacersEZ 4x110mm Hon SXS-2.5" -pr 8 20-1610-12c Hardware EZ Stud Extender 12mm-1.5-2-1/2"-ea

utv4137hf SpacersEZ 4x110mm Hon SXS-1.5" -pr 8 20-1611-12c Hardware EZ Stud Extender 12mm-1.5-1-1/2"-ea

utv4156 SpacersEZ 4x156mm Pol ATV/SXS-2.5" -pr 8 20-1642 Hardware Spcr Ext Stud-2-1/2”  Pol-ea

utv4156-12 SpacersEZ 4x156mm Pol SXS -2.5" -pr 8 20-1610-12c Hardware EZ Stud Extender 12mm-1.5-2-1/2"-ea

utv4156f-12 SpacersEZ 4x156mm Pol SXS -1.5" -pr 8 20-1611-12c Hardware EZ Stud Extender 12mm-1.5-1-1/2"-ea

utv4156k SpacersEZ 4x156mm Kaw Pro FXT Mule-2.5” -pr 8 20-1610-12 Hardware EZ Stud Extender 12mm-1.25-2-1/2"-ea

utv4156f SpacersEZ 4x156mm Pol ATV/SXS-1.5" -pr 8 20-1631 Hardware Spcr Ext Stud-1-1/2” Pol-ea

3100 SpacersEZ 3x100mm Hon/Yam-2.5 -pr 8 20-1610 Hardware Spcr Ext Stud-2-1/2”-ea

3100-8 SpacersEZ  3x100mm Kaw/Suz-2.5"-8mm -pr 8 20-1610-8 Hardware Spcr Ext Stud-8mm-2-1/2”

3120 SpacersEZ 3x120mm Suz-2.5” -pr 8 20-1610 Hardware Spcr Ext Stud-2-1/2”-ea

3090-8 SpacersEZ 3x90mm Yam-8mm-2.5”  -pr 8 20-1610-8 Hardware Spcr Ext Stud-8mm-2-1/2”

4088-8 SpacersEZ 4x88mm Yam-2.5” -pr 8 20-1610-8 Hardware Spcr Ext Stud-8mm-2-1/2”

4100 SpacersEZ 4x100mm Yam-2.5” -pr 8 20-1610 Hardware Spcr Ext Stud-2-1/2”-ea

4110f SpacersEZ 4x110mm Hon/Yam-1.5” -pr 8 20-1611 Hardware Spcr Ext Stud-1-1/2”-ea

4110 SpacersEZ 4x110mm Hon/Yam-2.5” -pr 8 20-1610 Hardware Spcr Ext Stud-2-1/2”-ea

4110p SpacersEZ 4x110mm Pol-2.5" -pr 8 20-1642 Hardware Spcr Ext Stud-2-1/2”  Pol-ea

4110fc SpacersEZ 4x110mm CanAm 450-1.5" -pr 8 20-1646 Hardware Spcr Ext Stud-1-1/2”  CanAm-ea

4115f SpacersEZ 4x115mm Yam/A-Cat 1.5” -pr 8 20-1611 Hardware Spcr Ext Stud-1-1/2”-ea

4115 SpacersEZ 4x115mm Yam/A-Cat 2.5” -pr 8 20-1610 Hardware Spcr Ext Stud-2-1/2”-ea

4130 SpacersEZ 4x130mm Hon/Suz-2.5" -pr 8 20-1610 Hardware Spcr Ext Stud-2-1/2”-ea

4137f SpacersEZ 4x137mm Kaw-1.5” -pr 8 20-1611 Hardware Spcr Ext Stud-1-1/2”-ea

4137 SpacersEZ 4x137mm Kaw-2.5” -pr 8 20-1610 Hardware Spcr Ext Stud-2-1/2”-ea

4143f SpacersEZ 4x143mm CanAm-1.5” -pr 8 20-1646 Hardware Spcr Ext Stud-1-1/2”  CanAm-ea

4144fc SpacersEZ 4x144mm CanAm ds450-1.5” -pr 8 20-1646 Hardware Spcr Ext Stud-1-1/2”  CanAm-ea

4144f SpacersEZ 4x144mm Hon-1.5” -pr 8 20-1611 Hardware Spcr Ext Stud-1-1/2”-ea

4156f SpacersEZ 4x156mm Kaw/Yam-1.5” -pr 8 20-1611 Hardware Spcr Ext Stud-1-1/2”-ea

4156 SpacersEZ 4x156mm Kaw/Yam-2.5” -pr 8 20-1610 Hardware Spcr Ext Stud-2-1/2”-ea

4156p SpacersEZ 4x156mm Pol-1.5” -pr 8 20-1631 Hardware Spcr Ext Stud-1-1/2” Pol-ea

4156pw SpacersEZ 4x156mm Pol-2.5” -pr 8 20-1642 Hardware Spcr Ext Stud-2-1/2”  Pol-ea

4085f SpacersEZ 4x85mm Hon/Yam-1.5” -pr 8 20-1611 Hardware Spcr Ext Stud-1-1/2”-ea



Durablue, Inc.
Item List

05/13/2021 at 14:45:05 Page: 29

4085 SpacersEZ 4x85mm Hon/Yam-2.5” -pr 8 20-1610 Hardware Spcr Ext Stud-2-1/2”-ea

5130 SpacersEZ 5x130mm Suz-2.5” -pr 10 20-1610 Hardware Spcr Ext Stud-2-1/2”-ea

gl101f SpacersGL 4x101mm Pol-1.5” -pr 1 20-1609pf Hardware Bolt kit-GL101f

gl101 SpacersGL 4x101mm Pol-2.5” -pr 1 20-1609k Hardware Bolt kit-GL101

gl110f SpacersGL 4x110mm Hon-1.5” -pr 1 20-1609f Hardware Bolt kit-GL155f

gl110 SpacersGL 4x110mm Hon-2.5” -pr 1 20-1609a Hardware Bolt kit-2.5" GL-8 pc

gl110fp SpacersGL 4x110mm Pol-1.5” -pr 1 20-1609ef Hardware Bolt kit-Pol-GL110fp

gl110p SpacersGL 4x110mm Pol-2.5” -pr 1 20-1609e Hardware Bolt kit-Pol-GL110p

gl115 SpacersGL 4x115mm Yam-2.5” -pr 1 20-1609a Hardware Bolt kit-2-1/2" GL-8 pc

gl130 SpacersGL 4x130mm Hon/Suz-2.5” -pr 1 20-1609a Hardware Bolt kit-2-1/2" GL-8 pc

gl156f SpacersGL 4x156mm Pol-1.5” -pr 1 20-1609p Hardware Bolt kit-Pol-GL156f

gl156 SpacersGL 4x156mm Pol-2.5” -pr 1 20-1609d Hardware Bolt kit-Pol-GL156

gl155f SpacersGL 4x156mm Yam/Kaw-1.5” -pr 1 20-1609f Hardware Bolt kit-GL155f

gl155 SpacersGL 4x156mm Yam/Kaw-2.5” -pr 1 20-1609a Hardware Bolt kit-2-1/2" GL-8 pc

gl5130q SpacersGL 5x130mm Suz-2.5” -pr 1 20-1609a Hardware Bolt kit-2-1/2" GL-10 pc


	Price List-all DB

